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let Hk: {xcib > Xe‘ﬁa where Le =
e oo LS ‘%fvxcl -F(H’b)

O Let F(x+16) =U+ WU omd
calonlate tHreX
u= -x-b, U= bx=1)

©) Speced (. that b =o0
Show that f(H) = T-z,0)C R

@ Gentiel Cude ter bFo
Ellwunote X +to %et the eivxafmv\
O 2

This cle:'&:vxcs Co *\bavxa\oo\a, colled P
Aﬂf‘]w\ HAL&I “%(HL\ CP ond

f(H)>P
-\\‘W\S’ 'Y(Hg) = P .

DO twd ﬁ(\lﬂ, \/a=§a-§\\3:\36%1§, ¥
The method s <wtlax .
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(@Y Just weite down

a 2ReZ 2Tm? 1ZX—1
Wm’( A S B A \%ﬁ«>

by A ﬂvu&ﬁ crcle  on gl cewn he obtained
B\a c\/&k\/\%'\'\/\l Sv\r\ara \D‘ﬁ C V\aV\Q
Py WW‘G"\ e wcdm T.e.,

O, ThX,+ CX; =0 For ('x 'S mgﬂs
The cjrwi cuele I\ wot ess 'HMWcJL
the nmth P)\c (010,0 I{’ C#o0
In thak cann , W "M*A oSSume

WX, * bXy €+ %Xy =0
Naw -%\;\0\ C\\ALSTLW\ % (v\cLeeA waw\%
et S= {-ze([: |2 -2 =R
s(S) & a c&ruf dwcle, e, d b €R

YRe 2 2 T 2 r{—|
- + b ——— =
1215+ RC=A | RI=\ ©

& R+ 1= R™
Jusk Covvport. the eﬁl\wﬁ\w\s
2 -2:[" >R aud
26 D + 2b Twl@) + 20— =o
and  <ee the eciv&vq\-c, el
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Ux Uy

'

S;Mlal:j calenlete U, M\]
'FUY A= ZXVA«E’XZ and U= -Dcv\\z

SDlve for (‘xw\\) o tha
CQ)\AC)AI& Riemann t‘tv\a’tms and  lrove
(xiY) = (0,9 or 7.2

D)CS the CeX 2(0'0),(?‘3‘1_&}‘\ (L VIV YO

From thu above, conclude thet
-F s nonhere emalf('lg
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(@) Fist , need £ pove {(DY C D by
o] <1 o ’i<!
TRs  canm ‘«;&_ dove_ \’\é CQ\CU\,\A-EW\‘X
fe-fo -1 <O

Second LN N:‘E(%) , re weite
Z o tawms ) W foe (wis
Ths shawe At —% & swto awd

ks also  one —to-upe.

() S:M\’L‘Q nse “tha Glmf‘ev\t yloo cud
Calevhatim  on ka.dc(a\.
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(&) Very stroiqht fomard metad  of
¢ fo-uova—cwa e CMCJAG‘— Riemawn ETv\acths
OwnL ‘9\3 e f'(vwvu»l %Ct,
\F(ch)::z:b;\\ &- + Canstont
X {
U'CXD;VJ"B

(B) The cbove  @\enlation Rc\vfwa tal

X=FE© oA QM% W\OM.
Thing, S A Y —axes .

H = \..c{ﬁ VARS “(ﬂav\{ o ﬂcok‘t \f\q\f
which showld be conSistent withh
Hhe chace DJY (%o, \30

No petten S2= Rightt ov Lkt balf plowe
o) = beg (4™
Uxiy) = fou % <« Ar(%e.\D
Ore of- c! on S ond m‘ﬁivg«?y
Cavduf Rlemann C‘iw'ﬁcvxs lya o qbove.
W s oyt e L
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(@ In tems Dﬁ rectomﬁv\lo\,( Coovdwrate s
( . -
'\:(%32.?—:*\%3%—\/?%
Use Chan Rule to obtoin Uy, Uy or Uhﬁ’\)‘}
o Tems of W, Uy o Nr, Uy

e leads 1o ‘F(—?):_ L (end ~T6nd) (250 -1 :i;

= (sf-1sin0) (B\r'“ >r

(L) One W\ay —&LthU\ nse Chdin Rule o
V:P(‘/‘OLP, \l‘:“_e%:v&?

Foster Method : Conéidn )
Loy §@) = Ly (uein) = Qo ge“?
= by fx g
AW\\& Polew Eorwn Cg.,\%,g‘&wm va,atm
to tla function  Log §6)
Cha -F\MJ\ cqrotion  axe

~L L op _ 39
%E ' Yfae“&v
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